SHeFE1I2AXZXHOHEREE(12A1B~12A31HXZEH)

<BEHE>
No.| AH % £ = £ (M)
1| 12/7 |FH:ahiE 8 MEMAFEREFAX (BHHREL-T) 10,000
2 |12/15 | RE& . h/BRZIFTLHRBRLEHER 1,000
3 112/20 2 HiFRREHBLSTHESBHRE 5,000
4 |12/23 |BIE - RHM6EESLVASIVTAMNRIETRE 3,000
5 | 12/24 %%ﬁ*ﬁﬁii&&%%*éﬁi‘ﬁA 6,000
6 |12/26 £& FIEMBEXZELBVHK 8,000
7 112/30 FH . thERER KE 1’7 KSR (BEFHHTE4-6) 30,000
& & 63,000
<FEIR-£ETE>
No.| AH 1 £ = % ()
1| 12/7 Rt 8 RENEARKE AKX (BEHREL-T) 16,500
2 | 12/16 €. tThERZEE SUEBEFRMNIIGE 3,300
3 112/30 IR ihaEsER WETFEBRKENX (BEHRE4-6) 16,500
& &t 36,300
<FEB>
No.| AH e £ = % ()
11 12/13 {4 T XX RiGEE X mEEEST = (2F) 4,466
2 |12/15 . f/BERZ T BHEBREHABS (2FH) 4,466
3 | 12/20 |- RIRT R X GREESESRE R (2H) 4,466
4 |12/20 | NHEEMERREHBRLREFEMEEERTESR (2F) 4,466

& &

17,864




